Math 150 Spring 08 Name:
QUIZ #3 @ 85 points

Solve the problems on separate paper. Clearly label the problems. Show all steps in order to get credit. No proof no
credit glven

(3

1. Solve the triangle ABC knowing that A =40", B=60",and a=12c¢cm.

2. Solve the triangle ABC knowing that A =58", a =16ft, and b =18 ft.

3. Solve the triangle ABC knowing that a =48yd , b=75yd , and ¢ =63yd .

4. A ship is anchored off a long straight shoreline that runs north and south. From two observation points 18

miles apart on shore, the bearings of the shlp are N31'E and S53°E . What is the distance from the ship to
each of the observation points?

5. A ship headed due east is moving through the water at a constant speed of 12 miles per hour. However, the

true course of the ship is 60 . If the currents are a constant 6 miles per hour, what is the ground speed of the
ship?

6.  a)Draw the vector v that goes from the origin to the point (—3,4).
b) Write the vector v in component form < a,b > .

¢) Write the vector v in terms of the unit vectors 7 and }
d) Find the magnitude of the vector.

e) Find the angle €, (' <@ <360 that the vector makes with the positive x-axis.

7. a) Find the dot product of the following two vectors: u=2i— 4}' and v=-3i+ 5}' .
b) Find the angle between the given two vectors.

8. Solve the following trigonometric equations:

a) 2sin’ x—3sinx = —1. Solve in [0,27).

. 1. . . . .
b) sinxcos x —gsm x =0 Find all real solutions (in radians).
¢) 2cosa—sin2a =0 .Find all real solutions (in radians).

d) sin 2x=%. Solve in [0,27).
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